PART B (PRE-CALCULUS / MTT101)
SAMPLE QUESTIONS

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

Graph the linear equation and determine its slope, if it exists.
1) 4x + 5y =11
A)




Answer the question.
2) How can the graph of f(x) = =, 9 be obtained from the graph of y = l?
-X X

A) Reflect it across the y-axis. Shift it 9 units up.
B) Reflect it across the x-axis. Shift it 9 units down.
C) Reflect it across the x-axis. Shift it 9 units up.
D) Reflect it across the y-axis. Shift it 9 units down.

The graph of the function f is shown below. Match the function g with the correct graph.




Given the graph of the function fx) = -x3 + 3x; find a formula for g(x) .

4 £(x) = -x3 + 3x 4)
g0 =
A) g0 = f{x +3) B) g(x) = f(x - 3) O gk =109 -3 D) gl =)+ 3
Solve.

5) 45x+ 9x2 =0 5)
A) -225 B) -9, -5 C) -5 D)0, -5
7x 4 28

6)x—7_;=x2_7x 5
A)% B)%,—% C)%,—% D)%

7y 12x] = -3 7)
A) -0.67, 0.67 B) @ C) 1.5 D) -1.5

A polynomial P(x) and a divisor d(x) are given. Use long division to find the quotient Q{x) and the remainder Rix) when
P(x) is divided by d{x), and express P(x) in the form dix)- Q{x) + R(x).

8) P() = x4 + 3x2 + 14 8)
dx)=x2 -3
A) 62 - 302 -x+6)+ 14 B) (x2 - 3)(x2+ 6) + 32
C) (x2 - 3)(x2 - 3x + 6)+ 32 D) (x2-3)-(x2+6)+ 18

Factor the polynomial fix). Then solve the equation f{x) = 0.

9) f(x) = x3 - 11x2 + 36x - 36 9)
A) (x+ 2)(x - 3)x+6);-2,3, -6 B) (x - 2)(x - 3)(x - 6);2,3,6
C) (x- 2)(x - 3)x - 7);2,3,7 D) (x - 2)(x + 3)(x - 6); -2, 3, -6

Find the horizontal asymptote, if any, of the rational function.

4 u
10) f(x) = Irexe 7 10)

2
X< -7
A)yy=0 Byy=1 Cyy=7 D) None



State the domain of the rational function.

11) f(x) = 161} "
A) (-, - 16) U (- 16, 16) U (16, =) B) (-, 11) U (11, o)

Q) (oo, - 11)u (- 11, 11)u (11, =)

Solve.
x+ 12
12) x+8 <6
36
A) (o - =) U (8, =) B) @
36 36
o, e = e s -8, -
o ,s)u[ 5,] D) (-8, -2

Find the domain and range of the inverse of the given function.
13) f(x)=2-x2;x=0

A) Domain: [2, =); range: [0, =)

C) Domain: [(}, e); range: (- =, 2]

Find the domain and the vertical asymptote of the function.
14) f(x) = In (10 - x)
A) Domain: (- =, -10); vertical asymptote: x = -10
B) Domain: (-10, =); vertical asymptote: x = -10
C) Domain: (- =, 10); vertical asymptote: x = 10
D) Domain: (10, «); vertical asymptote: x = 10

Find the exact acute angle 8 for the given function value.

15) csc B =2
A) 45° B) 60°
Give the coordinates of the point described on the unit circle.
16) The reflection of the point [%,% across the origin
2 1 2 1 21
A) [- i g] B) = - g] ) [— 5 g]
Multiply and simplify.
17) sec x (cot x + sin x)
A) sin x + €sC X B) cosZx + 2 sinZx C) cosZx - cot x

C) 30°

D) cse x + tan x

Solve the system of equations using Gaussian elimination or Gauss-Jordan elimination.

18) x+ by +4z = -9
Sy+dz=-11
z= -4

A) (-4,1,2) B) (2, -4,1) C) No solution

D) (21, -4)

B) Domain: (-=, 2]; range: all real numbers
D) Domain: (-, 2]; range: [0, =)

11)
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16)

17)

18)



Provide an appropriate response.
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